Séquence de Nombres Linéaires (B)

Remplissez les nombres qui manquent de chaque nombre linéaire.
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Séquence de Nombres Linéaires (B) Réponses

Remplissez les nombres qui manquent de chaque nombre linéaire.
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Différence commune: 75
I I I I I I I I I I
9136 9131 9126 9121 9116 9111 9106 9101 9096 9091
Différence commune: -5
l l l l l l l l l l
490 590 690 790 890 990 1090 1190 1290 1390
Différence commune: 100
I I I I I I I I I I
3591 3616 3641 3666 3691 3716 3741 3766 3791 3816
Différence commune: 25
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2054 2064 2074 2084 2094 2104 2114 2124 2134 2144
Différence commune: 10
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4074 4049 4024 3999 3974 3949 3924 3899 3874 3849
Différence commune: -25
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Différence commune: -100
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Différence commune: -100
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